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Name: __________________________________



1
What is the sum of [image: image1.png]


 and [image: image2.png]


?

	1)
	[image: image3.png]




	2)
	[image: image4.png]sx% a7





	3)
	[image: image5.png]




	4)
	[image: image6.png]sx% 14







2
The expression [image: image7.png]NEc SN T



 is equivalent to

	1)
	[image: image8.png]




	2)
	[image: image9.png]




	3)
	[image: image10.png]




	4)
	[image: image11.png]






3
The sum of [image: image12.png]


 and [image: image13.png]


 is

	1)
	15

	2)
	18

	3)
	[image: image14.png]




	4)
	[image: image15.png]






4
The sum of [image: image16.png]


 and [image: image17.png]


 is

	1)
	[image: image18.png]




	2)
	[image: image19.png]




	3)
	[image: image20.png]




	4)
	[image: image21.png]






5
The sum of [image: image22.png]


 and [image: image23.png]JJ108



 is

	1)
	[image: image24.png]J13s





	2)
	[image: image25.png]




	3)
	[image: image26.png]




	4)
	[image: image27.png]






6
What is the sum of [image: image28.png]


 and [image: image29.png]


?

	1)
	[image: image30.png]




	2)
	[image: image31.png]204120





	3)
	[image: image32.png]




	4)
	[image: image33.png]






7
The expression [image: image34.png]28 + 63



 is equivalent to

	1)
	[image: image35.png]




	2)
	[image: image36.png]




	3)
	[image: image37.png]




	4)
	[image: image38.png]






8
What is the sum of [image: image39.png]


 and [image: image40.png]


?

	1)
	[image: image41.png]




	2)
	[image: image42.png]




	3)
	[image: image43.png]




	4)
	[image: image44.png]






9
What is [image: image45.png]150 + 24



 expressed in simplest radical form?

	1)
	[image: image46.png]




	2)
	[image: image47.png]




	3)
	[image: image48.png]




	4)
	[image: image49.png]J174







10
What is [image: image50.png]302 + A8



 expressed in simplest radical form?

	1)
	[image: image51.png]




	2)
	[image: image52.png]




	3)
	[image: image53.png]




	4)
	[image: image54.png]






11
The expression [image: image55.png]S0+ 6402



 written in simplest radical form is

	1)
	[image: image56.png]




	2)
	[image: image57.png]12452





	3)
	[image: image58.png]




	4)
	[image: image59.png]






12
What is the sum of [image: image60.png]


 and [image: image61.png]


?

	1)
	[image: image62.png]




	2)
	[image: image63.png]




	3)
	[image: image64.png]




	4)
	[image: image65.png]






13
Simplify:  [image: image66.png]Jag + 27





14
Simplify:  [image: image67.png]a5+ 20





15
The expression [image: image68.png]


 is equivalent to

	1)
	[image: image69.png]




	2)
	2

	3)
	[image: image70.png]




	4)
	4



16
The expression [image: image71.png]2050 - A2



 is equivalent to

	1)
	[image: image72.png]




	2)
	10

	3)
	[image: image73.png]




	4)
	[image: image74.png]






17
The expression [image: image75.png]J72-3402



 written in simplest radical form is

	1)
	[image: image76.png]




	2)
	[image: image77.png]




	3)
	[image: image78.png]




	4)
	[image: image79.png]






18
Simplify:  [image: image80.png]Jag 75 - 27





19
Express [image: image81.png]3475 + 77



 in simplest radical form.

20
Express [image: image82.png]Jas - 23+ 274240



 in simplest radical form.

21
Express in simplest form:  [image: image83.png]Jag - saf27 + 24075





22
Express [image: image84.png]N ERICNIERNED



 in simplest radical form.


1
ANS:
1
REF:
fall2301ai

2
ANS:
1

[image: image85.png]272 =B A3 =323 =53




REF:
069920a

3
ANS:
3

[image: image86.png]S5+ 3= 0253+ 3=53+.3=6.3




REF:
010311a

4
ANS:
2

[image: image87.png]1B 4472 =542 + 36,2 =32+ 642 =942




REF:
060316a

5
ANS:
2

[image: image88.png]2T+ V108 =33+ 363 = 343+ 643 = 943




REF:
010912a

6
ANS:
3

[image: image89.png]50+ 432 = 252 + 1647 = 542 + 442 =942




REF:
080614a

7
ANS:
2

[image: image90.png]I8 4463 = AT+ 3T = 2T+ 3T =57




REF:
060724a

8
ANS:
2

[image: image91.png]50+ B = V5T + AV =52+ 2= T2




REF:
080712a

9
ANS:
1

[image: image92.png]150+ 24 = Jas Je + a6 =506+ 206 =746




REF:
011517ia

10
ANS:
3

[image: image93.png]12+ A8 =32+ Jaf2 =302 4202 =542




REF:
011121ia

11
ANS:
4

[image: image94.png]S0+ 602 =625 2 +6:02 =302 + 6402 = 3602




REF:
011024ia

12
ANS:
2

[image: image95.png]ST + 3328 = 54T + VAT = 5T+ 64T = 1147




REF:
080524a

13
ANS:


[image: image96.png]



REF:
089811al

14
ANS:


[image: image97.png]



REF:
039413al

15
ANS:
1

[image: image98.png]R eI EIN o BN I o R I )




REF:
010826a

16
ANS:
3

[image: image99.png]250 - A2 = 2252 - 2 =102 - 2 = 9.2




REF:
080016a

17
ANS:
3

[image: image100.png]72382 = -3 =62 - 32 =342




REF:
061008ia

18
ANS:


[image: image101.png]



REF:
099911al

19
ANS:


[image: image102.png]


  [image: image103.png]35+ T 3B N3N 1543235 183
3 = 3 = 3 =73 =





REF:
061236ia

20
ANS:


[image: image104.png]5— 23+ 93423 =5-203 4334 6=114 43




REF:
061336ia

21
ANS:


[image: image105.png]



REF:
010212siii

22
ANS:


[image: image106.png]



REF:
080107siii

